LECTURE 13: GEOMETRIC DISTRIBUTION

- . TOPICS TO COVER (BASED ON CH 2.5)
 - > GEOMETRIC DISTRIBUTION

GEOMETRIC DISTRIBUTION

SEQUENCE OF INDEP BERNOULLI TRIALS WITH 04 P41

DON'T USE THIS FOR OUR CLASS

ON'T USE THIS FOR OUR CLASS

1 TRIAL BEFORE THE FIRST SUCCESS

E.G.
$$X = 1$$

P($X = 1$) = (1-b) b FIRST SUCCESS

$$X = 2$$
 $P = 2$ = $((-p)^2)^2$ TRIALS BEFORE THE FIRST SUCCESS

$$X = k \qquad P \{X = k\} = (1-b)^{k} b \qquad k \geqslant 1$$

$$\Rightarrow PMF OF X : P_X(k) = \left((1-p)^k p \right), \qquad k \ge 0,$$

$$0, \qquad 0 \text{ THERWISE.}$$

P. (K) 15 A VALID PMF!

- . Px(k) >0 + k : EASY TO VERIFY.
- $\cdot \sum_{\mathbf{k}} P_{\mathbf{X}}(\mathbf{k}) = 1$

$$\sum_{\mathbf{k}} \mathbf{p}_{\mathbf{x}}(\mathbf{k}) = \sum_{\mathbf{k}=0}^{\infty} (1-\mathbf{p})^{\mathbf{k}} \mathbf{p}$$

$$= \mathbf{p} \frac{1}{1-(1-\mathbf{p})} = \mathbf{r} \quad \sum_{\mathbf{n}=0}^{\infty} \mathbf{n}^{\mathbf{n}} = \frac{1}{1-\mathbf{r}} \quad \mathbf{x} \in [0,1]$$

· SEQUENCE OF INDEP. BERNOULLI TRIALS WITH 04 P41

ANOTHER WAY TO DEFINE TO DEFINE TO DEFINE THAT GAVE SUCCESS

LUSE THIS FOR OUR CLASS

E.G. X = 1 $P\{X = 1\}$ = PX = 1 FIRST SUCCESS

X = 2 P = 2 = $((-p)^{-1})^{-1}$ TRIAL BEFORE THE FIRST SUCCESS

:

X = k $P \{x = k\} = (1-b)^{k-1}b$ $k \ge 1$

 $\Rightarrow PMF OF X : P_{X}(k) = \left\{ (1-p)^{k-1} p, \\ 0, \\ OTHERWISE. \right\}$

Px(k) 15 A VALID PMF!

. px(k) >0 + k : EASY TO VERIFY.

 $\sum_{k} p_{\chi}(k) = 1$ $\sum_{k} p_{\chi}(k) = \sum_{k=1}^{\infty} (1-p)^{k-1} p$ $= p \frac{1}{1-(1-p)} \qquad \qquad \sum_{n=1}^{\infty} n^{n} = \frac{1}{1-n} \qquad \qquad x \in [0,1]$

MEAN OF A GEOMETRIC DIST.

$$EX := \sum_{k} k p_{x}(k)$$

$$= \sum_{k=1}^{\infty} k (1-p)^{k-1} p \cdots (*)$$

CONSIDER:
$$\sum_{k=0}^{\infty} z^{k} = \frac{1}{1-x} ; |z| \mathcal{E}(0,1) \dots (i)$$

TAKING DERIVATIVES ON EACH SIDE OF (1) W. R. T. &

$$\frac{\partial}{\partial x} \sum_{k=0}^{\infty} x^{k} = \frac{\partial}{\partial x} \frac{1}{1-x}$$

$$\frac{\partial}{\partial x} \sum_{k=0}^{\infty} \frac{\partial}{\partial x} x^{k} = -1(1-x)^{-2}(-1)$$

$$\frac{\partial}{\partial x} k x^{k-1} = \frac{1}{(1-x)^{2}} \cdots (ii)$$

$$\frac{\partial}{\partial x} k x^{k-1} = \frac{1}{(1-x)^{2}} \cdots (iii)$$

TAKE
$$\infty = (1-b)$$
 in (ii)

$$\sum_{k=0}^{\infty} k (1-p)^{k-1} = \frac{1}{(1-(1-p))^2}$$

$$= \frac{1}{p^2}$$

$$\sum_{k=0}^{\infty} k (1-p)^{k-1} \cdot p = \frac{1}{p} \cdots (**)$$

COMPARING (*) AND (**)

$$\mathbf{E}\mathbf{x} = \frac{\mathbf{I}}{\mathbf{p}}$$

ANOTHER WAY TO COMPUTE EX :

• IF THE OVICOME OF THE FIRST TRIAL IS 0

OF ADDITIONAL TRIALS TO GET

THE FIRST SUCCESS

$$\Rightarrow$$
 CONDITIONED ON THIS, EXI = $(1-p)(1+E(\widetilde{x}))$

$$\Rightarrow EX = p \cdot 1 + (1-p) \left(1 + E \tilde{X}\right)$$

$$\Rightarrow$$
 $E \times = P + (1-P)(1+E \times)$

$$E_{X} = p + (i-p) + (i-p)E_{X}$$

$$EX = p + (1-p) + EX - p EX$$

$$\Rightarrow$$
 $pEX = 1 \Rightarrow EX = \frac{1}{p}$

· VARIANCE OF X:

$$Var(X) := EX^2 - (EX)^2$$

$$\rightarrow \quad \mathbb{E} \, \chi^2 := \qquad \sum_{\mathbf{k}} \, \mathbf{k}^2 \, \mathbf{p}_{\mathbf{X}}(\mathbf{k}) \qquad = \qquad \sum_{\mathbf{k}=1}^{\infty} \, \mathbf{k}^2 \, (1-\mathbf{p})^{\mathbf{k}-1} \, \mathbf{p}$$

RECALL (ii):
$$\sum_{k=0}^{\infty} k x^{k-1} = \frac{1}{(1-x)^2}$$

TAKING DERIVATIVES ON EACH SIDE OF (ii) W. R. T. &

$$\frac{\partial}{\partial x} \sum_{k=0}^{\infty} k x^{k-1} = \frac{\partial}{\partial x} \frac{1}{(1-x)^2}$$

$$\Rightarrow \sum_{k=0}^{\infty} k(k-1) x^{k-2} = -2(1-x)^{-2-1} (-1)$$

$$\sum_{k=0}^{\infty} k(k-1) x^{k-2} = \frac{2}{(1-x)^3} \cdots (ii)$$

TAKE &= (1-b) in (ii):

$$\frac{\infty}{\sum_{k=0}^{\infty} k(k-1) (1-p)^{k-2}} = \frac{2}{(1-(1-p))^3} = \frac{2}{p^3}$$

$$\sum_{k=0}^{\infty} k^{2} (1-p)^{k-2} - \sum_{k=0}^{\infty} k (1-p)^{k-2} = \frac{2}{p^{3}}$$

$$\sum_{k=0}^{\infty} k^{2} (1-p)^{k-2} p - \sum_{k=0}^{\infty} k (1-p)^{k-2} p = \frac{2}{p^{2}}$$

$$(1-p)^{-1} \left(\sum_{k=0}^{\infty} k^{2} (1-p)^{k-1} p - \sum_{k=0}^{\infty} k (1-p)^{k-1} p \right) = \frac{2}{p^{2}}$$

$$\Rightarrow (1-p)^{-1} \left(Ex^{2} - Ex \right) = \frac{2}{p^{2}} \Rightarrow Ex^{2} - \frac{1}{p} = \frac{2(1-p)}{p^{2}}$$

$$\Rightarrow Ex^{2} = \frac{2(1-p)+p}{p^{2}}$$

$$= \frac{2-p}{p^{2}}$$

ANOTHER WAY TO CALCULATE EX2 SIMILAR TO EX:

$$E x^2 = 1^2 p + (1-p) E (1+x)^2 \Rightarrow E x^2 = \frac{2-p}{p^2}$$

HENCE,
$$Var(x) = Ex^2 - (Ex)^2$$

$$Var(x) = \frac{1-p}{p^2}$$

FOR A GEOMETRIC RANDOM VARIABLE X ~ GEOMETRIC (P):

$$P(X > k+n \mid X > n) = P(X > k)$$

$$ALREADY HAPPENED WE NEED TO SHOW THIS!$$

PROOF:
$$\frac{1}{4}$$
 P(X > k+n | X>n) = $\frac{1}{2}$ P(X > k+n $\frac{1}{2}$ X>n)

P(X>n)

$$\Rightarrow P(X > k+n | X > n) = P(X > k+n)$$

$$P(X > n)$$

$$P(X > n)$$

NOW CONSIDER:
$$P(x > x) = \sum_{l=x+1}^{\infty} (l-p)^{l-l} p$$

$$= P \left\{ (l-p)^{x+l-l} + (l-p)^{x+2-l} + (l-p)^{x+3-l} + \cdots \right\}$$

$$= P \left\{ (l-p)^{x} + (l-p)^{x+l} + (l-p)^{x+2} + \cdots \right\}$$

$$= P \left\{ (l-p)^{x} + (l-p)^{x+l} + (l-p)^{x+2} + \cdots \right\}$$

$$\Rightarrow P(x > x) = (l-p)^{x} \cdots (**)$$

USING (**) IN (*) !

$$P(X > k+n \mid X > n) = (1-p)^{k+n}$$

$$= P(X>n)$$